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34. A boy whose eye level is 1.35 m from the ground, spots a balloon moving with the wind in a
horizontal line at some height from the ground. The angle of elevation of the balloon from
the eyes of the boy at an instant is 60°. After 12 seconds, the angle of elevation reduces to
30° If the speed of the wind is 3m/s then find the height of the balloon from the ground.

(Use V3 = 1.73)
. Find the mean and median of the following data:

Class 85-90 90-95 95-100 100-105 105-110 110-115 \
Frequency 15 22 20 18 20 25 |
OR
The monthly expenditure on milk in 200 families of a Housing Society is given below.
Monthly Expenditure 1000- | 1500- | 2000- | 2500- | /3000- | 3500- | 4000- | 4500-
(in %) 1500 | 2000 | 2500 | 3000 | 3500 | 4000 | 4500 i 5000
| Number of families 24 40 33 X 30 2 16 7 |

Find the value of x and also find the mean expenditure.



